HEZRAAS: 600337 WFRRIFR: RmxRE Y7 I 2022-050

ErREirRERSRBBRATXT
BT 10 XEZRFIET 10 K EREFHERFFRHOAS

ERFAEFRREBEERIER AT AFTNFEEMBRICE. RIPER
REE BRI, AR, MR e B A B AN B K THE

I3 H bR i ] i B A BR A7) CLURAR AR T 2022 4 4 F1 26 HHIT5
NBEFHFSHE L —RSWHBOEE T T LR SEAN 22 5 77 2 0l B4 (1) i
R, BEWEENL AR T 2022 4 4 A 28 HAE ( BiuEHR#HR) GEFHRR#HR) &L
WRIEZR AL 5y TG Cwww. sse. com. cn) $E% 1 €3 v [ Br 2 a4 A PR 2 A
FINREHFSH T — RS VAR A E) (5 EbRFEH kA R A = 2T LA
L TEMN AT 5 77 B A I TEE ) A1 €S8 e [l b 2 fa b I A BR A =] o6 T A
T 2021 FFFERAR AR 2 KB o

RYE CEIIETFAZ G BT AR BEERETR I 7 S-RIWEA ) A
€, AR ERS A RIR R EIRT— N5 5 H O (RP 2022 44 H 27 H)D
FACLEMIRT 10 KB AR ARG 10 KIGPIRE F A AR AR A ST

—. 2022 ££ 4 B 27 HBCEMBET 10 KIRRER

, H AT B
=N
Fe B4R ﬁf%i AR
Bl (%)
1 LR ER A R A ] 398, 957, 050 24. 50
2 FN R ERERF EF IS Ak CHRAD 176, 677, 274 10. 85
3 & v [E FR 2 = o B A A RIS 2 7 [0 ) & FH IR 27 K P 132, 382, 337 8.13
4 | FEER— T EESE—19 2 04FB AR RS e = 73, 240, 000 4. 50
5 R A B A N F — R R RS AL 2 SRS RIS | 56, 307, 505 3. 46
BRI ERE — M S R E A R THEAF — HRIoER
6 PR 52,617, 300 3.23
5 5 FAF N T — A g — 3t Amn o _
. ﬁiﬁf%ﬁﬁﬁ@* T &) — A% gt — @ AR 6 7= i — 0191 33, 890, 886 5 08
8 | MM ERTEHARAT —WERE 4 SREIEHFRERES 28, 632, 000 1.76
== a5l — _ N _ _
9 ifﬁ)\%ﬁxﬁﬁﬁﬁﬁmﬁz\? 341 — A N4 41— 0191 — FHO002 21, 878, 177 L3
10 | Fs 15, 788, 002 0.97

TN 2022 5F 4 A 27 HEICEMBIET 10 KEREFZFMFRAREML




HAT B
) R %’f%% Wk H

Bl (%)
1| R ERARAFR 398, 957, 050 24. 50
2 | M REERFESWERERES S CERAK 176, 677, 274 10. 85
3 3¢ 70 [ B K = FH o 4 B 2 ] (91 0 & FH IE 25K P 132, 382, 337 8.13
4 | L ER—FLUESF—19 3 04EB 58 K AS B =& P 73, 240, 000 4. 50
5 o ) 5 A R A A B — ) RIS AR I 2 SRR R RS | 56, 307, 505 3. 46

ERTERE — SN e ERFRIUEA T —EELER

6 P AR 52, 617, 300 3.23
. ﬁﬁﬁf%@ﬁ@ﬁ&&ﬂ—%%—%ﬁ%@ﬁ&—M%— 33, 890, 886 5 08
8 | B ER T EHAR AT —EENAE 4 SRSEIEHFR RIS | 28,632,000 1.76
9 i@k%ﬁ@ﬁ@%&&ﬁ—ﬁﬁ—ﬁkﬁﬁ—M%—mmz 21, 378, 177 | a1
10 | A4 15, 788, 002 0.97

E: MEAAEPEH, AFEBAN 1, 628, 327, 220 fit.

/N

KnEbrEHEHMRMAER AR ERES
—“O-=%FfHA+H




